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In Exercises 1-2, write frue or false ney? io the sigtement, Mihe o

1. 1 and £4 are corresponding m@es. 4
. 20 ang L4 ars congruent, T ™
2 i
3. L4 and LT arz corresponding angles /
4. L4 and 7 are congruent. oo,
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B, L1, £3, 24, and £6 all measure 80° 5/! 5
6. L2, /5, and £8 all measure 100°, /
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7. Lines m, n. and o are paraliel. 9/8 o
8. Lines o and p are perpendicular. e

in Exercises $-30, find the measure of the angie. (The angle number is the exercise rimber.
#Assume that lines in sach figure that do not intersact are paraliel.
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